ANSWER KEYSTO - GASUNIT ASSIGNMENTS
Exerciseson Pressureand Volume
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b) m=0.43¢g
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Avogadro’'s PT n, v (VUn1)=(V2/n2)
Principle
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Eﬁlume Practice: |
G Molar Volumeat Moles M ass Molar # of molecules
volume at ST.P. (grams) M ass
ST.P (Litres) (grams)
(Litres)
N 22.4 22.4 1.00 46.01 46.01 6.02 x 10"23
N 22.4 22.4 1.00 17.03 17.03 6 x 1023
22.4 11.2 0.5 32.033 64.065 3.01 x 10"23
N 224 44.8 2.00 56.04 28.02 1.20 x 1023
C 22.4 16.042 6 x 10"23
O 224 67.2 3.0 96.00 32.00 1.81 x 10"23
Hg 22.4 2.24 0.1 3.408 34.081 6.02 x 10"23
M@Iume Practice: |1
1 134.15L O,
75SL
89.6 L
540¢g
€) 268.8 L
f) 747 L
g) 1.67 mol




h) 7.44 L
i) 7.22 x 10"24 molecules

j) 58 L
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7. a) 850 kPa

b) H2: 242 kPa He: 608 kPa



